

A proof of the Simons inequality

EVE OJA

Let S be a set and let $\ell_\infty(S)$ denote the metric space of all bounded real functions on S . For a sequence of functions $x_n = x_n(s)$, $s \in S$, its convex hull is denoted by $\text{conv}\{x_n\}_{n=1}^\infty$, that is

$$\text{conv}\{x_n\}_{n=1}^\infty = \left\{ \sum_{n=1}^m \lambda_n x_n : m \in \mathbb{N}, \lambda_n \geq 0, \sum_{n=1}^m \lambda_n = 1 \right\}.$$

The following result of S. Simons [2, Lemma 2] (cf. also [1, p. 49]) is important in real analysis and geometry of Banach spaces (see e.g. [1, Chapter 3], [2], [3]).

Simons Inequality. *Let $(x_n)_{n=1}^\infty$ be a bounded sequence in $\ell_\infty(S)$. Let $T \subset S$ be such that, for every $\lambda_n \geq 0$ with $\sum_{n=1}^\infty \lambda_n = 1$, there exists $t \in T$ satisfying*

$$\sum_{n=1}^\infty \lambda_n x_n(t) = \sup_{s \in S} \sum_{n=1}^\infty \lambda_n x_n(s).$$

Then

$$\inf_{s \in S} \{ \sup x(s) : x \in \text{conv}\{x_n\}_{n=1}^\infty \} \leq \sup_{t \in T} \limsup_n x_n(t).$$

In this note, we shall give a simple direct proof of the Simons inequality. In fact, the main formula which will be used in the proof below is

$$2^n = \sum_{k=0}^{n-1} 2^k + 1.$$

Received July 13, 1998.

1991 *Mathematics Subject Classification.* Primary 26A03.

Key words and phrases. Bounded real functions, their convex combinations.

The work was supported by the Estonian Science Foundation Grant 3055.

Proof of the Simons inequality. Denote $\sigma(x) = \sup_{s \in S} x(s)$, $x \in \ell_\infty(S)$, and $C_k = \{\sum_{n=k}^{\infty} \lambda_n x_n : \lambda_n \geq 0, \sum_{n=k}^{\infty} \lambda_n = 1\}$, $k \in \mathbb{N}$. As $\inf\{\sigma(x) : x \in A\} = \inf\{\sigma(x) : x \in \bar{A}\}$ for any set $A \subset \ell_\infty(S)$ (where \bar{A} denotes the closure of A), it is equivalent to prove that

$$\inf_{x \in C_1} \sigma(x) \leq \sup_{t \in T} \limsup_n x_n(t) =: \sigma_T. \quad (1)$$

To show (1), it clearly suffices to prove that, for any $\varepsilon > 0$, there exist $v \in C_1$, $y_m \in C_{m+1}$ (for $m \in \mathbb{N}$), and $t \in T$ so that

$$\sigma(v) - \varepsilon \leq y_m(t) \quad \forall m \in \mathbb{N}. \quad (2)$$

[In fact, by (2),

$$\inf_{x \in C_1} \sigma(x) - \varepsilon \leq \sigma(v) - \varepsilon \leq \limsup_m y_m(t) \leq \limsup_n x_n(t) \leq \sigma_T,$$

and inequality (1) follows because $\varepsilon > 0$ is arbitrary.]

Let $\varepsilon > 0$. Since C_k is a bounded set,

$$\inf_{z \in C_k} \sigma(x+z) > -\infty \quad \forall x \in \ell_\infty(S), \quad \forall k \in \mathbb{N}.$$

Choose inductively $z_1 \in C_1$, $z_2 \in C_2, \dots$ so that, for $k = 0, 1, \dots$,

$$\sigma(2^k v_k + z_{k+1}) \leq \inf_{z \in C_{k+1}} \sigma(2^k v_k + z) + \frac{\varepsilon}{2^{k+1}}$$

where $v_0 = 0$ and $v_k = \sum_{n=1}^k z_n/2^n$. Then put $v = \sum_{n=1}^{\infty} z_n/2^n$. Since $2^k v_k + z_{k+1} = 2^{k+1} v_{k+1} - 2^k v_k$ (because $v_{k+1} - v_k = z_{k+1}/2^{k+1}$) and $y_k := 2^k v - 2^k v_k = \sum_{n=k+1}^{\infty} 2^k z_n/2^n \in C_{k+1}$, we have, for $k = 0, 1, \dots$,

$$\sigma(2^{k+1} v_{k+1} - 2^k v_k) \leq \sigma(2^k v) + \frac{\varepsilon}{2^{k+1}} = 2^k \sigma(v) + \frac{\varepsilon}{2^{k+1}}. \quad (3)$$

Since $v \in C_1$, there exists $t \in T$ satisfying $v(t) = \sigma(v)$. From (3) (note that $\sum_{k=0}^{m-1} 2^k = 2^m - 1$), we immediately get that, for any $m \in \mathbb{N}$,

$$2^m v_m(t) = \sum_{k=0}^{m-1} (2^{k+1} v_{k+1} - 2^k v_k)(t) \leq (2^m - 1)\sigma(v) + \varepsilon = 2^m v(t) - \sigma(v) + \varepsilon.$$

This means that (2) holds. \square

References

1. P. Habala, P. Hájek, and V. Zizler, *Introduction to Banach Spaces* [I], Charles University, Prague, 1996.
2. S. Simons, *A convergence theorem with boundary*, Pacific J. Math. **40** (1972), 703–721.
3. S. Simons, *An eigenvector proof of Fatou's lemma for continuous functions*, Math. Intelligencer **17** (1995), 67–70.

FACULTY OF MATHEMATICS, TARTU UNIVERSITY, VANEMUISE 46, 51014 TARTU, ESTONIA

E-mail address: eveoja@math.ut.ee